
Question 1: In 8086/8088 processor, interrupt vector table is located at the memory location
__________.

0

4
256
1024

Question 2: An __________ is a program that takes basic computer instructions and converts
them into a pattern of bits that the computer's processor can use to perform its basic operations.

Assembler

Debugger
Editor
Console

Question 3: An entire __________ memory can be erased in one or a few seconds which is
much faster than EPROM.

PROM
Cache
EEPROM
Flash Memory

Question 4: For increased and better performance we use __________ which are usually made
of glass.

Coaxial Cables
Twisted Pair Cables
Fiber Optic Cables

Shielded Twisted Pair Cables

Question 5: The main issue/s in error control is/are __________.

Detection of Error
Correction of Error
Both Detection of Error and Correction of Error

Avoidance of Error

Question 6: In which one of the following addressing modes, the operand does not specify an
address but it is the actual data to be used.

Direct
Indirect
Immediate
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